2016 7IE2 A3 Muat 57 () | HEY

017 - | MEH 01.828HE [PH'3~3H07]

£5}0jo1 FIRST CLASS ‘ArXt2 JIEEEAS HEA A 017 ]

1_"



01t M=ol 27|
ChES ARSI,

(1)%([{(2x—1)(x+2)}dx) @ ( (22—1) x+2)}>dx

FH o——o

O‘I OIRfR f(x) 7t THE ZAUS TEAZ W, & F(x) ff(x dx7t ZAshs F12te] 20l=?

“h f(0)=—
e “"xoﬂtﬂo}@l f(—x)=f(z)°lct.
I y=,(x) I A (2, f(2)) A2 HAQ] 7]&7|+= 20]tt,

D4 @5 ®6 @7 ®8

FH o—o

02 st f( ) ol thHat f(x) —f(Sx—Zx—f—a)dx lim M

o, f(—2)9f g2?

(B f(0)=20|2, a= &=0ICt)

-1 @ —12 ® —13 @ —14 ® —15

2
0 [2(z—1)(32+3) (x—2)dz (z)[x&Z dr
(3)[(8in6’+cos(9)2d&—i—f(sin&’—cosé’)zdﬁ (4) f(%—l—l)sdx

(03 @+ /wel =ai y=r(a) o] 224t A2 20 Olxfkh= LettD, 39 y
Z10| 62, £(0)=—192tT BiC} Olm, B4 f(x) | 2427

@ —69 @ —66 /

@@

® —60 /—2




2016 7ISE ATt XMBu 27| (AD) | HEH

2519401 FIRST CLASS “AFXbe MEER Y

FH o——o

04 =5 2 ol tatol £ 84 fz), F()7} i 28 2 o502 0, f(e)2] 427

o F'(x)=f(x)
W F(x)=x{f(x)—1)

D1 @2 @3 @4 ®5

S o O 2013sie= O TR LIS 18H
(M;ouw*ﬂwwmamd*gwﬂ
guﬁ:jlf+ﬂxﬂdx“ﬂxkﬂx%:—2f+8f
S oEEA I, g(1)9] 2427 [4E]

D1 @2 @3 @4 ®5

2
(1) [ cos’ % dx @) f (Sin %—cos %) dx

@fﬂ§3m (gﬁmwnm

SH o—o

06 0<zx<rO|M Hol=l &4 f(x) 2| =87t f/(x) =sin2x—cos 20| f(x) 2| 20| %%‘ o, f(x)

o| Zchzro?

op @3 @1 ok ®2

W f(x)=—f(x)+e “cosx

B4 g(1)8 gla)=c(x)2t B 1, 2 g(kn) 2l S TR

a4 SA4 0174

r-||:



